

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

ABATMNT07

...PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF BETTY FRANCISCO 304-558-0468

RFQ COPY
TYPE NAME/ADDRESS HERE
Bristol Environmental Inc
1123 Beaver Street
Bristol, PA 19007

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

06/28/20	16	15510000		3.11	8,7000 8000 8000		FREIGHTTENWO
BID OPENING DATE:		/12/2006			BTD	OPENING TIME	01:30PM
Process of the personal reports	44 850 80 068689		CAT	JTEMNU			
LINE	QUANTITY	UOR	, No.			UNIT PRICE	AMOUNT
	. , ,	1 7 1 1 1 1 1		के, स्टब्स्ट के स्टब्स्ट स्टब् स्टब्स्ट स्टब्स्ट स	7387		
		e e es as s					
		A A	DENDU	M NO. 01		·	
		ands, VV 253	£ :				
μ.		E	ENING	DATE TO	JOPA 13	, 2006 AT	
,]	1:30	P.M.			‡ <u>†</u>		į į
 	ריד. א דיי	יייייע)		מא מדם שמ מא מדם שמ	יביידותם ד	ISCUSSION,	
2.		TACHED,				LOCODDION,	
	10 21	171711111111111111111111111111111111111	U112 1	*****	į .		
3.	LIST	OF PRE-	ID AT	TENDEES I	S ATTAC	HED, TWO PAGES	; .
					1	'	
4.						CHED, ONE PAGE	: -
						CREDIT IS	
	ISSUE	ED IN PLA	CE OF	THE BID	BOND.	, ,	
	^		7 2 7 4 7 7 7		er zamados — de dominio		
5.	QUEST	TONS ANT	ANSW	ERS RECEI E ATTACHE	VEU AFT	EK THE	
	PKE-E	SID MEET	MA DVII	E ATTACHE	in' ture	E PAGES.	
6.	דריז	ING PAGES	REV	TSED 6/26	/06 ARE	ATTACHED,	and the same of th
	4 PAC	ies. Thi	SE PA	GES MUST	BE USED	TO SUBMIT	
		BIDS.					
**	*****	*******EI	DOF	ADDENDUM	NO. 01*	******	**
							į į
						,	
						,	
	,						
		300 <u>0 </u>	SEERE	VERSE SIDE FOR T	ERMS AND COL	i NDITIONS	_
SIGNATURE					TELEPHONE		DATE 7/10/06
TITLE Ernest M	DeCara	T T IFEIN	1		1 213-	-788-6040	7/10/06
Drood down	ncoaro	++ + -	23-276	7303		ADDRESS CHA	NGES TO BE NOTED ABOVE

		REGION 1 - Kanawha County					
Oty, in Sq. Ft.	Asbestos Removal and Disposal	Price Per Square Foot	Hourly Rate	Hours Estimate	Total		
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 4.68	\$ 78 - 00	60.00	\$ 4680.00		
1,000.00	Removal & disposal of boiler pipe insulation	\$ 17.16	\$ 78.00		\$17,160.		
1,000.00	Removal & disposal of asbestos siding	\$ 3.90	\$ 78.00	50.00	\$ 3900.00		
1,000.00	Removal & disposal of ceiling tile	\$ 3.12	\$ 78.00	40.00	\$ 3120.00		
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sur	n Price		Total		
1	This cost shall be used in any subsequent contract for Region 1	\$ 3000.00			\$ 3000.00		
ofe grades of Charles and Charles of the Charles of		Grand Total			\$31,860.		
VENDOR: B	ristol Environmental Inc crnest M. DeCaro III, President	Date	: 7/10/06				
CONTRACT	OORDINATOR INFORMATION	with the same of t					
	Paul Caligiuri						
	123 Beaver Street Bristol, PA 19007						
Phone Numbe	er:412-833-8122	***************************************					
Email Addrage	mpcal@beigroup.com						

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

Note: The mobilization/demobilization costs shall be firm and shall be used in any contract awarded to bidder.

	Asbestos Removal and Disposal	Price Per Square Foot	Hourly Rate	Hours Estimate	Total	
Oty. in Sq. Ft. 1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 4.68	\$78.00	<u></u>	\$ 4680.00	
1,000.00	Removal & disposal of boiler pipe insulation	\$17.16	\$78.00	220.00	\$17,160.0	
1,000.00	Removal & disposal of asbestos siding	\$ 3.90	\$78.00	50.00	\$ 3900.00	
1,000.00	Removal & disposal of ceiling tile	\$ 3.12	\$78.00	40.00	\$ 3120.00	
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sur	n Price		Total	
1	This cost shall be used in any subsequent contract for Region 2	\$3000.00			\$3000.00	
		Grand Total			\$ 31,860	
VENDOR / BID	DER INFORMATION					
VENDOR: B	ristol Environmental Inc					
- 1/	rnest M. DeCaro III, President	Date	7/10/06			
CONTRACT C	OORDINATOR INFORMATION			Control of the Contro	Telephone () Special Section () Special Sect	
	ul Caligiuri					
	23 Beaver Street					
	ristol, PA 19007					
						

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

Note: The mobilization/demobilization costs shall be firm and shall be used in any contract awarded to bidder.

wpcal@beigroup.com

Email Address:___

SBESTOS RE	EMOVAL & DISPOSAL PRICING PAGE - REGIO	N 3 - Harrison C	ounty		
Qty. in Sq. Ft.	Asbestos Removal and Disposal	Price Per Square Foot	Hourly Rate	Hours Estimate	Total
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 4.55	\$ 75.90	60.00	\$4554.00
1,000.00	Removal & disposal of boiler pipe insulation	\$ 16.70	\$ 75.90	220.00	\$16,698.0
1,000.00	Removal & disposal of asbestos siding	\$ 3.80	\$ 75.90	50.00	\$3795.00
1,000.00	Removal & disposal of ceiling tile	\$ 3.04	\$ 75.90	40.00	\$3036.00
				And the second s	
Mob/De-mob	Mobilization / De/Mobilization This cost shall be used in any subsequent	Firm Lump Sur	n Price		rotal
1	contract for Region 3	\$ 2500.00 Grand Total			\$2500.00 \$30,583.
VENDOR: Br	DER INFORMATION ristol Environmental Inc rnest M. DeCaro III, President	Date:	7/10/06		
	OORDINATOR INFORMATION		······································	· · · · · · · · · · · · · · · · · · ·	
Address: 112	ol Caligiuri 23 Beaver Street 1stol, PA 19007				
	: 412-833-8122				

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

Note: The mobilization/demobilization costs shall be firm and shall be used in any contract awarded to bidder.

ASRESTOS RI	EMOVAL & DISPOSAL PRICING PAGE - REGIO	N 4 - Rerkeley C	ounty			
1000010011						
		Price Per		Hours		
Qty. in Sq. Ft.	Asbestos Removal and Disposal Removal & disposal of glue-down floor tile with	Square Foot	Hourly Rate	Estimate	Total	
1,000.00	mastic	\$ 4.55	\$ 75.90	60.00	\$ 4554.00	
1,000.00	Removal & disposal of boiler pipe insulation	\$16.70	\$ 75.90	220.00	\$ 16,698.0	
1,000.00	Removal & disposal of asbestos siding	\$ 3.80	\$ 75.90	50.00	\$ 3795.00	
1,000.00	Removal & disposal of ceiling tile	\$ 3.04	\$ 75.90	40.00	\$ 3036.00	
Mob/De-mob	Mobilization:/ De/Mobilization	Firm Lump Sur	n Price		Total	
1	This cost shall be used in any subsequent contract for Region 4	\$2500.00			\$ 2500.00	
		Grand Total			\$ 30,583.0	
· Pri	DER INFORMATION istol Environmental Inc					
Signature: <u>Er</u>	nest M. DeCaro III, President	_ Date:	7/10/06		-	
CONTRACT C	OORDINATOR INFORMATION				e kajarini Baltimar (Askingala) Seringa (S. 17 Antanis) e esperante a talunga (S. 16 Antani	
Name: <u>Paul</u>	Caligiuri					
Address: 1123 Beaver Street						
<u> </u>	istol, PA 19007	•				
Phone Number	412-833-8122	_				
Email Address:	wpcal@beigroup.com	***************************************		······		

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

Note: The mobilization/demobilization costs shall be firm and shall be used in any contract awarded to bidder.